Name____________________________


Date______________

Vectors

Use the diagram for Exercises 1 – 9. Let u = 
[image: image1.wmf]OA

 and v = 
[image: image2.wmf]OB

. Name each

Indicated vector, using two letters from the set O, A, B, C, D, and E.

1.  –u  _______________

2.  –v  _______________

3.  u + v  _______________

4.  v + u   _______________

5.  –2u  _______________

6.  –(v + u)  _______________
Find the magnitude of the vector.

7.  u  _______________
8.  v  _______________
9.  u + v  _______________

In Exercises 10 and 11, the magnitude of u is 64, it bearing is 
[image: image3.wmf]o

100

. The magnitude of v is 50, its bearing is 
[image: image4.wmf]o

195

. If w = u + v, find:
10. the magnitude of w to three significant digits  _______________

11. the bearing of w to the nearest tenth of a degree  _______________

In Exercises 12 – 20, u = 2i – 3j and v = -2i – j, and w = u + v. Find:

12.  
[image: image5.wmf]u

 __________

13. 
[image: image6.wmf]v

 __________  


14. w__________
15.  
[image: image7.wmf]w

 __________

16.  2w __________  


17. 3v – 2u __________

18.  u  •  v__________
19. The angle between u and v__________  




20. the angle 
[image: image8.wmf]o
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, that w makes with the positive x-axis.__________

Find the dot product of each and state whether the vectors are perpendicular. 
Write yes or no.

21. < 3,6 > • < -4,2 >                22. < -1,4 > • < 3,-2 >
      
23. < 2,0 > • < -1,-1 >
24. < 7,-3 > • < -2,4 >
     25. < -3,0 > • < 4,-3 >               26. < 7,-4 > • < -5,-8 >
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